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Word problem (Addition)

Que 1- In a shop, there are 462 black balls and 321 white balls. How many

total balls are there in the shop?
Sol - HTO

No.of blackballs= 4 6 2
No. of whiteballs=+3 2 1
Total balls =7 8 3

Ans- There are total 783 balls in the shop.

Que 2- In a showroom, there are 432 bikes and 294 scooties. How

many total vehicles are there in the showroom?

Sol- HTO
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Total vehicles = 726



Ans- There are total 726 vehicles in the showroom.

Que 3- There are 149 girls and 276 boys in a big hall. How many
children are there in the big hall?

Sol- HTO
11
No. of girls =149
No. of boys =+276
Total children = 425

Ans- There are total 425 children in the big hall.

Que 4- A fruit seller has 139 oranges, 468 bananas in his shop. Find
the total number of fruits in his shop?

Sol- HTO
11
No.oforanges =1 3 9
No.ofbananas =+4 6 8
Total fruits =607

Ans- There are total 607 fruits in his shop.



Que 5- There are 736 flower pots and 235 pencil boxes in a small
truck. How many total things are there in the truck?

Sol- HTO
1
No. of flowerpots = 7 3 6
No. of pencil boxes=+ 2 3 5

Total things = 971

Ans- There are total 971 things in the truck.

Que 6- In an Orchard there are 620 apple trees, 240 mango trees
and 76 banana trees. How many total trees are there in the Orchard?

Sol- HTO
1
No. of apple trees =620
No.of mangotrees = 2 4 0

No.of bananatrees = + 7 6
Total trees =9 3 6.

Ans- There are total 936 trees in the Orchard.



